o lall dugiladl dual gl polosi] & aldme jbueno!
Q.il.“.ll g9l = Yo AV/Ye VT gl yall plall
(Gupalan ! dalil) dakl sdll douddniddlg guad! : BaLef!

. 3 gl b

Cige YOANY/ANT - gl
daia (YA) duil Sl cilaiaa aas
A e LR RS Gl (£) ¥l i
= 395 o 41l sl 5l
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Gl gobaind | E A oAl eeeee oo
b g ] 900
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il el il Gl 3139

i (YA ) il Sl lnded 208 Tage ookl augilill dal yall olod! abomis hdno! S| g | gl y

e (£) okl oo Gl ggall = Yo AV/¥ oY il yall olal

ey el gl g 3 (b Bl ) g il s aiallg - Bald!

o S i s 0 aSLallg YOAY/ANT - gl

bbb« bl
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o The measure of the angle between the two Slalssl CLQ: g =olS 13
straight lines whose direction cosines are e \ ¥ Y L) i

Z D33\l L 930! u d\s \
(3 A )ad(\/_\/_,O)equals ......... JJU” (: ﬂﬂ)
............... G\l pranianad) po

@ 60 ® 30° v @ v @
© 90 @ 120° v () . @
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o Find the equation of the plane parallel to the 63 5l 6 granadl Dolae u o
plane 2x +y — 4z = 0 and lies at a distance =ttty & gl

5 E{A)

+/21 length unit from the point (1,2,0) Jsbiams M e e S

( A G )M\ UA
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YOv/Ya E,WU.UI?LJI—E,)EJ\”JJ\ (2 el Y1 AR Tyl il g ]| - ol A 30 o0 AL Bl (olnie!
Solve the following matrix equation: 1AV dd sasadll Asladl J

1 O 2 X 5 ° o Y . \
0 1 -1 ()’) =11 N \- \ .
11 0/\z \7 v e ] L
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e If Z =2+ 2+/3i, then the exponential STy =E O 1)
form of Z 1s &b a3l

T Te - T o T
@  ge ®  4e5 =Y ag @, Y

v/ U.JLIJI JoaJl - d=salpol)dalinl) ad A uj



YAV/TAT alyud) aladl - 3] gl (A julod ¥ 2300) W | pal | dauctighy ot | - Loladl 3 430l ylhf AL Balgas (lowia!

If X +y2+22+4x—6y+8z+4=0 is |~ ot +'s + 0ot ol 1)

the equation of a sphere, then the length ) o i.+ e + o
of its diameter equals ............. length 6,5 JJ” Jsb S 8,5 olas
it .thb.b-j .................. 63\.‘0
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o If direction angle of a vector are 2 (8 %60 °t0) o8 13
(45°,45",0") , then one of the values of G| OB asaed ol Ll g )
equas 308 wad ™ ol X $ole3 () o8

@ 45° ® 90° i @ e (D
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o Answer one of the following items: RO AR GV (JURCS RO YUPY
a- Find the solution set of the equation : Al Jo- 4o gaze “\?\ -
Z* = —8i in the trigonometric form. AN 2l pA—= &
(V)Y =g o810
1 ., & .
b-IfZ = % (1 + i), find the square roots . T w
. . . 8 &) “penso I | |
of Z in the trigonometric form. & R
FRTCRIEIPWAY
9
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T gl it (huand Aa0L) 2 50 iy ) - bl A 50 L3 Bl i

elf"%: "cs=1:3,then |[n =3 Vil= ot O 13|
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o The middle term in the expansion of

1

(2x +55)" equals

@ 12C6 x~6

........

(@ o ¥ 1 4300L) Wil | padl Aunighlg ot | - dolad) G gl Ayl 2L Balgeds (slin

sj&gbﬁ\u\
VY v \ v L)
.................. ssj\.«.i
10’”1va @
-‘U"' -\U\Y @
Dwv \Y @

. \ @
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dakad)) Cayatie dlais LS|
c(i ¥ cv—) \AbJL d\ M :" |
.................. Lfb (/\ ¥ 40-)

@ The coordinates of the midpoint of the line-
segment whose terminals
(-3,2,4),(-5,2,8) is .........

(-2,2,4)
-5 5 ° 0-
753 (Fe5) @

3,42 Yooy v @
(3’3'3) (V‘\“T)

® 0 @ 6

v/ U.JLIJI JoaJl - d=salpoldalinl) ad A uj

13



YAV/TNT Gl yd pladl - LD gl (A s Y1 0113 Tl | gt iy peond | Al 2 0 sy L Bl (ol

: 11 Wev oY) e ot
Q Prove that the expansion of (xz + iz) <F ) 4K o e
X
does not included a term free of X . o (R g;\" d e g5 Y
14
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Find the area of the parallelogram in which @MJEI\ S5 ste dles a5
A and B are two adjacent sides such that: | o1, s\t Olabs 5 P ad g
A =(3,6,3), B =(-6,-2,-4). (8- - =T dr ) = b
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From the numbers 1, 2, 3, 4, and 5. 34 V'{ 0 & ¥ eYc f\;ﬂ\ e
How many even numbers greater than 300 P CRR OV RS | W
can be formed from these numbers with UMY e T\Bﬂ‘ oda e
replacement?

@ 30 ® 250 v @ v O
© 11 @ 1530 e O w B
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@ If Z = v2(sin30" +i cos 30°) ,then the o8 13,
principle argument (amplitude) of the Croleot v ) v\ =¢
number Z equals ............ £ saall ALY 4l 06

.................. ol

17

v/ U.JLIJI JoaJl - d=salpoldalinl) A A



YAV YT Gl judf aladl - SIS ygadf

@ The direction cosines of
the vector A = (-2, 1, 2) are

®

© (=
© =

@ (L

1,2)

1 2
’3’3
5

)5I§

1, 1)

)

(@ o ¥ 1 4300L) Wil padl Aunighlg pond | - dolad) G gl Ayl 2L Balgeds (slin

azciall oloaVI g ol s
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Without expanding the determinant ,
Prove that :

3x 3x 3x
1 b a | = zero
a+b a+1 b+1

O ST sasadl €6y 9o

AN A B Al
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If 1,w,w? are the cubic roots of one.then: | 293 s» (© « @ o) o8 13|
@ ’ 0 el a1 50 FaS)

14+ w4+ 0+ 0+ + 0 LR
.................. + O+ O+O+)
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@Answer one of the following items

a- If the two straight lines:
Li:7v=(23,-4)+k(23,a)
L. - xX-5 _y+4  z—-4

2 p T 6 T 2

are parallel , find the value of each of a and b

b- Prove that the two straight line
Ll: 7_; = (1,2,4‘) + k1 (4‘, —2,2)
LZ: x =\1— 6k2

Yy = 1+ 21k2

,Z =1+ 33k, are perpendicular.

(el B401L) s 0 gy - ke gl 0 23 Bl i

O 38 i Ge e
1 e
Olesitiadd! OIS 131 -1
XY=~
t-& _tv o _0- J
(- :v

Y ht
wo el oo IS ded dam sl o )2

:pseditaca) O il -0
C(Yr-c) JH(EX ) =Tm 1\
¢ YSTH’\:& < vﬂ-\—\=u«4:vd

S

Olkelaze YY) old
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@Ifﬁ=2?+3j—ﬁ B=41—7, P R S (A
then 4 B equals......... —y¥
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